Eco 307 




Homework #2 Answers


Taggert J. Brooks 

Go to the course webpage and download the dataset htwt1.txt.  This contains the height and weight data provided on page 20 of the text.

1. Verify the results in the textbook, by estimating the linear regression.  Cut and paste the output below.
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2. Guess my weight.  I’m 5’8’, using the estimated equation what would you guess my weight to be?

Weight=103.397+6.377(8)

=154.413

3. In the above case our sample was based entirely on males.  What would you expect the regression coefficients to look like if we estimated it for just females?

Women are generally shorter and lighter then men.  However, for a given height we would expect women to be lighter so the slope coefficient should be smaller (the regression line should be flatter).  We would also expect the intercept to be smaller for much the same reason.  A 5’0 male would probably be on average, heavier then a 5’0 female.
4. What other variable might you include in the regression above to help you predict weight?  What would it’s sign be?

You could use waist size in inches.  One would imagine the larger the waist the heavier the person so the coefficient would be positive.

5. Turn back to the dataset we used in Homework #1, (Using the following data: CLL-data.sav) Estimate the following equation.
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What are your coefficient estimates?

[image: image3.wmf]Coefficients

a

10.887

2.650

4.109

.000

.515

.113

.354

4.541

.000

(Constant)

ACTMTH

Model

1

B

Std. Error

Unstandardized

Coefficients

Beta

Standardized

Coefficients

t

Sig.

Dependent Variable: SCORE

a. 


6. What would you predict my Score would be if my actmth was 30?
Score_hat=10.887+.515(30)

30*.515=15.45

10.887+15.45=26.337

7. Estimate the Model 
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What would you expect my Score to be if I was ranked 75th in my highschool class?

	Coefficientsa

	Model
	Unstandardized Coefficients
	Standardized Coefficients
	t
	Sig.

	
	B
	Std. Error
	Beta
	
	

	1
	(Constant)
	17.715
	2.276
	
	7.783
	.000

	
	perrnk
	.068
	.030
	.191
	2.258
	.026

	a. Dependent Variable: score
	
	
	
	


Score_hat=17.715+.0.068(75)

Score_hat=22.815

Which Model is a better fitting model?

From the R_sqaured below we see that ACTMTH explains more of the variance in score than perrnk. The r_squared is 0.125 for ACTMTH and 0.036 for PERRNK.  There are also theoretical reason to think an aptitude measure such as ACT will out perform high school class rank, which is a function of the quality of high school you went to. Being the 75th percentile at one school, might be substantially harder than being 75 at another. ACT score is norm referenced so you eliminate that effect.
ACTMTH Model

	Model Summary

	Model
	R
	R Square
	Adjusted R Square
	Std. Error of the Estimate

	1
	.354a
	.125
	.119
	4.927

	a. Predictors: (Constant), actmth
	


PERRNK Model
	Model Summary

	Model
	R
	R Square
	Adjusted R Square
	Std. Error of the Estimate

	1
	.191a
	.036
	.029
	5.143

	a. Predictors: (Constant), perrnk
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